SFE S8 uS &1l 2= SPSS

SIQIAICH QU ZIMEI T2 12 o ALK BHH: A|R[| -> SEAE

A2 S)  ->EELEaE]-> ASHRIE X3

CALL10OXISPSS J|=  SA=E4JI=

=M u

b

0 0% 0¥ b»

i
[%

F

: SEHM|ZHOIRHE B333
I=:1/9(2),1/10(3), 1/13(8), 1/14(3h 13:30~16:30
k243 12/24(@H-1/2(=)
: AIRLC| -> My Activity -> mLH HIz 1}
-> SPSS J1= (CALL 10Xh

0
[N 02

[z Im 0

=

3

[Z
0

2ITE &S DS

28 U S AIErSH=

CALL 114} C==I1as

Xk

L2t D503
Z:1/15(£2) ~ 1/17(=2), 1/20(&) ~ 1/24(=) 14:30~17:30
1I2F 243 12/26(=)-1/8(%)
H4: AIRLC] -> My Activity -> TLH HIZ 1t
-> C20 J1= (CALL 11X

[z im0
02 02 0¥ k>
T \J o

[Z
0

% JIME B2 200 M2t HSE = USLILCH





